YEAR & — DEVELOPING NUMBER. ..
Fractions & Percentages

______________ , ——— - __
| I I
| What do Ireed to be able || heunords |
| to do? | Percent: parts per 100 — written using the / symbol I
= | | Decimal a number in our base 10 number sustem Numbers to the right of the decimal place are caled decimas I
| Bythe end of this unit you should be able to: | | Fraction: a fraction represents how many parts of a whole value you have |
|+ Convert between FOP kssthanand | | Equivalent: of equal vale I
: more. than 100 | : Reduce: to moke smaler in valve. I
| * lIncrease or decrease using mutliplers : i Growth: to increase./ o grow :
* Bxpress an amount as  percentage Integer: whole number, can be. posttive, negative. or zero
I« Find percertage change Il I
I |l Invest: use. money with the. goal of it increasing in valve. over time (Usualy in a bank) |
I::::::::::::::iI:::::::::: _______________________ I
| Convert FOP (R ] ” Eraction/ Percentage of amount (R ] |
70 out of 100 £60
This aks ! 70 h |

: 0N —y ml;amo —> squares —» —> =Ug((ﬂ)ridihs |: Find 3 of £60 [EETER[ER [ER 2] I
| 70-100 O Tundedts’ ' o e |
| Using a _ = 7 ‘tenths’ 1 £36 |
caleulator 07 Be. careful of Remerber Remember |

| ¢ careful of recurring decimals I 3 0/ of £60 = £6 i 3607 -06 I
| m eg | -03333333 ||| 57607 50/of £60- £30 5 |
I 5 —>| S2D | Convert to a decimal 3 - (;'3 I 607 of £60- £36 60/ of £60 |

=06x 60

| This will give. you the answer \a - 100 converts The, dot dbove the 3 : : - £26 :
| " the simplest form to a percertage I |
- ————=———=—————=—— R T oy ety
1 Convert FDP < and > 1007 H Percentage decrease: Mufiplers ” Percentace increase: Multipliers |
; /. / |

| wonosast | FEFERAHEEE ) sonmseae |} 4 — S e et

immu| T entns
| L e | Wz . | [ ]
—_— Il 7~ Decreaseby5s7 | 7/
: 140 hundredts |: 427 % ” herease by L :
N 4 tenths I
1007+407 : . . .

| Weae | % 1100798/ =42/ puigier 111007+ 12/ = 12/ Mitpler |
1| - 140 | 100-058-042 4 Lessthon | | 100+01A- 12 4 Moretun | |
I I

e — — — — — — — — — — — — — —

r-r-—-—-—m-mm-m------"-""""""""""""""=" I I ________________________
: Express as a 7 - Non-cakulator Percent — per hundred 1) Express as a 7 - Cakeulator

[
I 000° } 7 per every 10 are omn@e} Ths means that 70 per every 100 } I Rosie @5
707 y

I
I
|
I I
o0 7 aeorange 70
Y o I = i 433333...7 |
00O 0 100 I 13
I 1 3_0-—>|:,—>50—>x|oo—>43/ |
I 27 per every 50 shaded | 94 per every 100 shaded 0 — :
| Al . 5. 547 I This the same ds |
I 50 100 1 Can't use equivalence 13-30
| I easiy o find ‘per Decimal percentages I
| | Denominator 100 || Equivalent fractions | I hundred’ are st a pescentage. | |
e ! N _______ I
r—-H—------"-"-"-"-""----{\—-"{\—-"{—_--—_ . — —_—_—_-_—__-_—_——_——_————— arF—_—————————— -
| Percentage change L1 Choos | |
€ appropriate me
I I bought a house for £180,000, | I ppropriate method I
I | bought a phone for £200 lter sold it for £216000 Il oq |
| QO year later sold it for £125 | |
I 1007/ [ The language. and wording of |
| 00/ , L ) | the question is the key
’ f | Oll valves of change [ £180000 | I I
| | £200 | 4 compare to the | [ | Il |
| £125 [E— ORGINOL vale e | |
| Percentage bss Percentage profit | Have. you represented the question in d |
| 13, 00 -3757 _Ditfererce invabe . « 100 — 36000 , 0. Il bar model?
200 Original vale Money made (profit vae) 130000 100 -207 Can you vse a calculator? |
I I I




